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Q.1 Multiple choice of Question: 10
[1] Which of the following defines a pointer variable to an integer?
A.int &ptry;  B.int *ptr; C.int **ptr;  D. int &&ptr;
[2] Which of the following defines and initializes a pointer to the address

of x?7
A, int *ptr = *x; B. int *ptr = &x;
C. int &ptr = *x; D. int *ptr = *x;

[3] Which of the following is not a C memory allocation function?
A.malloc()  B.alloe()  C.realloc()  D. calloe()
[4] Structires can rot he initialized at
"~ A. Run time by taking input from user
B. Run time by assignment statement
C. Compile time at time of declaration of structure variable
D. Compile time within structure definition using assignment

statement
[5] What are two predefined FILE pointers in C?
A, console and error B. stdio and stderr
C. stdout and stderr D. stdout and stdie
[6] Which of the following is not a derived data type?
A, Arrays B. Pointers C. Float D. Structure
I7] Which of the following data structures are indexed structures?
A, linear arrays B. linked lists
C. Both A and B D. None of these
{8] Files are a type of Data Structure.

A.Linear  B.Primitive  C. Non- Primitive  D. Non-Linear
[9] Which of the following is TRUE for a Queue data structure?
A, Linear B. Non-primitive C, Primitive D.Both AandB
[10] Which of the following statement is FALSE for the Queue data
structure?
A. Its nature is LIFQ
B. Its nature is FIFO
C. It is a non- primitive data structure
D. It is a Linear data structure
Q.2 Answer the following questions in short (Any 10): 20
[1] Explain how compile time and runtime memory allocation process
differ? ' S
[2] Differentiate: a pointer and a pointer variable
[3] List ount benefits of peinfers.
[4] Differentiate: printf and fprintf.
[5] Differentiate: append mode and right mode
[6] What do you mean by file pointer?
[7] Give the Example of Primitive Data Strueture,
[8] Draw the Hierarchical Structure of Data Structure.
[9] Differentiate: primitive and non primitive data structure.
[10] Define Circular quene and Priority Queue.
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[11] What is Singly Linked List?
[12] State various Applications of Linked List.

[A] Bow can pointer used with arrays? Explain pointer to an array
using appropriate examples.
[B] Explain in brief “pointer to pointer”.

OR
[C] Explain the importance of pointers in functions by taking suitable
example. How pointers can be used to return multiple vahues to
functions?
[D} Explain in brief “pointer to structure”

[A] Explain array within structure using suitable example.
[B] Explain fprintf and fscanf function with example.

OR
[C] Explain structure within structure with suitable example.
[D] What is union? Explain its definition, declaration and assigning
values to members of union.

Write an algorithm for peep and change operation on stack.

OR
Write an algorithm to insert an element into a stack and to delete from
a stack.

[A] Write an algorithm to delete an element from a Singly linked list.
[B] Write an algorithm to insert an element at the beginning of a Singly
linked list.

OR
Write algorithm for various operations performed over a queue,
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